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QUESTION 1

What two statements are correct about Access Logix? (Choose two.)

A. AccessLogix is array-based LUN masking software.

B. AccessLogix\\'s volume access control enforces strict access rules where multiple hosts share a single storage port.
C. AccessLogix is host-based LUN masking software.

D. AccessLogix enables multiple heterogeneous arrays to connect to the same host.

Correct Answer: AB

QUESTION 2

Which two tasks can Navisphere Analyzer perform? (Choose two.)

A. comparing archived and real-time performance data

B. tracking performance trends for Dell / EMC switches

C. tracking performance trends for hosts connected to Dell / EMC Storage Area Networks (SANS)
D. tracking performance trends for Dell / EMC storage arrays

Correct Answer: AD

QUESTION 3

In Navisphere 6.x, a user adjusted the read and write cache size to appropriate levels on the Memory tab
but failed to place any check marks on the Cache tab.

Which best describes the result?

A. Read and write cache is enabled by default from the factory and there is no way to adjust the settings.
B. Read and write cache would not be enabled and performance issues could result.

C. Read and write cache would be enabled.

D. Read and write cache would not be enabled until the storage array is rebooted.

E. Read and write cache would be enabled but the storage array would display a fault.

Correct Answer: B

QUESTION 4
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Which utility should you use to manage an Emulex Host Bus Adapter (HBA)?
A. Array Manager

B. SANsurfer

C. DataOntap

D. LightPulse

Correct Answer: D

QUESTION 5

Which term describes a zoning implementation where each incoming frame is read by the switch to ensure proper
source and destination addresses (WWNs)?

A. packet analysis

B. hard zoning

C. address translation
D. soft zoning

E. frame filtering

Correct Answer: D

QUESTION 6

Which two ways can Event Monitor be configured? (Choose two.)
A. Centralized Monitoring

B. Direct Monitoring

C. Distributed Monitoring

D. Shared Monitoring

E. Remote Monitoring

Correct Answer: AC

QUESTION 7
SAN Copy can be configured to .

A. have simultaneous sessions between multiple storage systems
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B. provide synchronous mirroring between multiple storage systems
C. create copies of Source LUNSs that are only 20% of the original size
D. allow UNIX hosts to copy LUNSs to be accessed by Windows hosts

Correct Answer: A

QUESTION 8

Which two states can a clone LUN be in before it can be fractured? (Choose two.)
A. consistent

B. synchronized

C. synchronizing

D. reverse out-of-sync

Correct Answer:. AB

QUESTION 9

Which SP port must be available when setting up a MirrorView connection on a CX700?
A 2

B.0

C.3

D.1

E. any unused port

Correct Answer: C

QUESTION 10

Which term describes the ability to allow LUNs to be exclusively assigned and accessed by a specific list of hosts?
A. VSAN

B. LUN partitioning

C. zoning

D. dynamic LUN expansion

E. LUN masking
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Correct Answer: E

QUESTION 11

How many LUNs are required for the Write Intent Log (WIL)?
A. one per array

B. two per array

C. two per each mirrored LUN

D. one per each mirrored LUN

Correct Answer: B

QUESTION 12

What steps should you perform to create a copy of a source LUN in a second storage array, while minimizing
unavailability of the source LUN?

A. take a snapshot of the source LUN, then use SAN Copy to copy the snapshot to the second storage array
B. take a snapshot of the source LUN, then use SAN Copy to copy the source LUN to the second storage array

C. take a snapshot of the source LUN, runMirrorView to mirror the snapshot to the second array, then use SAN Copy to
synchronize the mirror with the source LUN

D. use SAN Copy to copy the source LUN, then take a snapshot on the second storage array

Correct Answer: A

QUESTION 13

Which three statements are correct about Access Logix? (Choose three.)
A. AccessLogix can be enabled and disabled as needed.

B. After installation, AccessLogix must be enabled.

C. AccessLogix enables the creation of multiple Storage Groups.

D. AccessLogix is array-based LUN masking software.

E. A host can be connected to multiple Storage Groups at the same time.

Correct Answer: BCD

QUESTION 14
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Navisphere CLlI is typically installed with what other software package?
A. Navisphere Manager

B. Host Agent

C. AccessLogix

D. PowerPath

Correct Answer: B

QUESTION 15

You have a source LUN on a CX500 for which you maintain snapshots for tape backup. You need to
create a new snapshot for this source LUN but are unable to do so. You can create snapshots of other
source LUNSs on the array.

What is the most likely problem?

A. You have reached the maximum limit of 300 snapshots per storage system.

B. You have reached the maximum limit of 8 snapshots per source LUN.

C. You have reached the maximum limit of 150 snapshots per storage system.

D. You have reached the maximum limit of 50 Cache LUNSs.

Correct Answer: B
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